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FCCAnalyses: FCC-ee Simulation (Delphes)

1020 __I 1T 1 | 1T T 1 | 1T T 1 | 1T T 1 | 1T T 1 | 1T 1 I__
Vs =240 GeV, L=10.8 ab™ —
1018i e'e’ - ZH,Z - vv,H - 11, B
1016 i No additional selection E
10 | ]
_— Z(q@)H() Cww [z - QQ ]
1012 Z(INH(tT) B zz [Cee - 1 -
10 I — Z(VV)H(TT) I:I e+e- - Veve VA - Z(TT)H(TT) —
107 = Bl Z(11)H(QQ) [ Z(tt)H(gg) =
108 - B Z(t)H(WV) 1 Z(v)H(QQ) B
. [ ]Z(v)H(gg) [ 1Zwv)H(WV) ]
108 [ Z(INH(QQ) [1z(hH(@a)  —
. — —_I_ll(ﬂ)ﬂ(ﬂ)— |_| Z(qg)H(VV) —]
107" = —]
102 —i
1} —
1072 —i
1074 _
10—6 _=| Coe R L |=_
-1.5 -1 -0.5 0 0.5 1 1.5

Neutral hadron charge



	Contents
	Page 1


